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BE
EHERE | FRRE | pxmmsnn fxmmMaE exrosan fxTnAE| B (ReXE|RESE(SABE|EXEE|BERE| WE |[BEARE| AR |BEAS| A5t |RSKE|sxcesex|sceses| ENEE
m/s m/s m/s °C °Cc °C °Cc % mm mm h h MJ MJ hPa % % %
1:00[JL7 3|#HItFE 6|dLFE 3.8 3.4 45 3.4 -1.3 71.7 0 0 0 0 0 0] 10285 71.7 64 62.6
2:00(FHIL T 3.1[JL 5.5|FEILFE 3.8 3.9 3.9 3.2 -16 67.5 0 0 0 0 0 0] 10285 73 675 62.7
3:00(FHIL T 3.5|FILFE 6.9|FEILFE 4.3 3.9 3.9 3.3 -2 65.6 0 0 0 0 0 0] 10283 70.1 65.5 62.7
4.00|FaL7E 2.4|FEILFE 6.4|FEILFE 3.7 4.1 48 3.9 -25 62.4 0 0 0 0 0 0] 10283 65.6 59.6 62.7
5:00|F 3L 7 3.4|FEILFE 6.3|FEILFE 3.6 3.2 4.2 2.7 -15 71.7 0 0 0 0 0 0] 10287 742 62.4 62.8
6:00[Jt7 2.6/JL7E 49|FEILFE 34 3.7 43 3.2 -1.8 67.7 0 0 0 0 0 0] 102838 71.7 63.7 62.9
7:00|FEdL 2.1|JL7 5.4/t 3.6 2.9 3.8 2.8 -1.2 74.6 0 0 0 0 0 0] 10295 75.6 67.3 63.1
8:.00(FHILEE 1.8[dt 29|FILFE 2.1 3.1 33 2.9 -1 74.6 0 0 0 0 0 0] 10304 76.2 729 63.3
9:00[Jt7 2.8|FEILAE 49|FEILFE 34 4 4 3 -1.2 69.2 0 0 0 0 0.14 0.14]  1030.9 747 69.2 63.4
10:00|FEJL 2.4|JL 4.3|JLF 2.8 6.1 6.1 4 -1.7 57.6 0 0 0 0 0.37 051]  1030.9 69.2 57.6 63.3
11:00[FEJL 22|FEItE 4.7|FEILFE 2.7 6.9 6.9 6.1 -1.8 53.9 0 0 0 0 0.59 1.11] 10308 58.1 53.2 63.2
12:00[Jt7 2.6|FILFE 48]t 2.6 8.3 8.5 6.9 -2.6 46.2 0 0 0.7 0.7 1.6 27| 10299 54.7 437 62.9
13:00[FEJL 3.2[db b7 553t It FE 35 8.5 8.9 8 -3.1 44 0 0 0.6 1.3 15 42| 10295 46.9 407 62.6
14:00[FEJL 2.4|FEILE 5.3|FEILFE 3.2 8.9 9.1 8.5 -3.4 417 0 0 1 2.3 1.6 581  1029.1 46.2 40.6 62.3
15:00[JLJLE 27|dbdbE 6.4/dtdbE 3.6 8.9 9.9 8.9 -5.2 36.6 0 0 1 3.3 1.17 6.97| 10293 417 328 61.9
16:00[Jt A 45/JtdbE 2.7 8.6 9.2 8.6 -5.3 37 0 0 0.9 42 0.62 76| 10293 38 36.6 615
17:00|FaEI 78 [KIE 33k 2 5.2 8.7 5.2 -2.1 59.2 0 0 0 42 0.08 768 10298 59.7 37 615
18:00|FaEI 78 0.4|FEmPE 1.1|FEFEPE 1.1 5 5.2 42 -2.8 57.1 0 0 0 42 0 768  1029.7 64.3 57.1 61.4
19:00[4bdLE 0.9|FIF 2.7|dEmrE 15 4.1 5.2 4.1 -28 60.7 0 0 0 42 0 768  1029.6 60.7 56.1 61.4
20:00[EEIE 0.7]dt 1.6[dbdE 8 1.1 3 42 2.8 -2.2 68.7 0 0 0 42 0 768 10298 69.1 60.7 615
21:00| R 0.2|FEEIFE [EGES 0.7 1.9 3 1.7 -2.1 75 0 0 0 42 0 768 10295 75.7 67.8 61.7
22:00 | FHEIFE 0.3|FamI e 0.9|FEEIFE 0.4 1.2 2 0.9 -2.1 78.9 0 0 0 42 0 768  1029.2 79.4 744 62
23:00| 7 0.4|FaEIFE 1.3]|F 0.9 0.4 1.2 0.4 -2.4 81.4 0 0 0 42 0 768 10287 815 783 62.3
24:00:00 |7 0.3|F 0.6]78 0.4 0 0.9 -0.1 -2.6 83.1 0 0 0 42 0 768] 10275 83.8 795 62.6
B
EHE R | FRR | xmmsnn SABMAE| BAFoHER xR BRRE|EXEE W= |BEER| AR |BEBs| Bf |[HRE EEE
m/s m/s °C °Cc % mm h h MJ MJ hPa %
E 1.9 46 -2.3 62.8 1029.4 62.4
xE L 4.3|FEILFE 6.9|FEILFE 9.9 -0.7 83.8 1031 635
[liod 2:52 2:49 14:14 7:29 23:41 10:35 9:19
=IE -0.1 -6 32.8 1027.5 61.1
[liod 0:00 14:25 14:20 0:00 16:18
g 0 42 42 7.67 7.68
BLEISERE (%)
[ Jedbse | e [ AR | ® | HeAR | mMR | mamam | @ | ragara | miew | vagges | ps | sadeds | dbde | JEdEdE [ dE [ EREO[ O RAL |
AREREES 21— 75| 1.2] 0.3] 0.8] 0.4] 0.4] 0.3] 0.2] 0.6] 1.6 9.5] 3.4] 34.2| 20.8] 2.8] 4.7] 11.3] 0]




